Non-Vehicular Source Fees Fiscal Year 2008-2009

Facilities

ID	District	Feepayer	2006 Emissions (Tons)	\$ Per Ton Fee	Fee
12626	BAAQMD	Valero Refining Company	8,606	\$149.95*	\$1,290,470
14628	BAAQMD	Tesoro Refining And Marketing	5,795	\$149.95*	\$868,960
10	BAAQMD	Chevron Products Company	3,983	\$149.95*	\$597,251
11	BAAQMD	Shell Martinez Refinery	3,845	\$149.95*	\$576,558
22	BAAQMD	Conoco Phillips Refining Company	1,685	\$149.95*	\$252,666
17	BAAQMD	Hanson Permanente Cement	1,674	\$149.95*	\$251,016
16	BAAQMD	ConocoPhillips - San Francisco	1,074	\$149.95*	\$161,046
1438	BAAQMD	New United Motor Manufacturing	661	\$149.95*	\$99,117
30	BAAQMD	Owens-Brockway Glass Container	336	\$149.95*	\$50,383
11661	BAAQMD	Rhodia Inc	251	\$149.95*	\$37,637
49	CCAPCD	PG&E Delevan Compressor Station	288	\$149.95*	\$43,186
9	KCAPCD	California Portland Cement Co.	4,614	\$149.95*	\$691,869
28	KCAPCD	U.S. Borax	1,465	\$149.95*	\$219,677
21	KCAPCD	National Cement Co	1,460	\$149.95*	\$218,927
20	KCAPCD	Lehigh Southwest Cement Co.	776	\$149.95*	\$116,361
1186	MBUAPCD	Cemex - Cement Plant	1,302	\$149.95*	\$195,235
100005	MDAQMD	Cemex - Black Mountain Quarry	4,832	\$149.95*	\$724,558
1200003	MDAQMD	TXI Riverside Cement Company	4,127	\$149.95*	\$618,844
11800001	MDAQMD	Mitsubishi Cement	3,127	\$149.95*	\$468,894
900002	MDAQMD	Searles Valley Minerals	1,820	\$149.95*	\$272,909
1500039	MDAQMD	PG&E Topock Compressor Station	1,261	\$149.95*	\$189,087
3100068	MDAQMD	Southern California Gas Company	764	\$149.95*	\$114,562
50001051	MDAQMD	Ace Cogeneration Company	669	\$149.95*	\$100,317
27000935	MDAQMD	AGC Flat Glass North America, Inc	600	\$149.95*	\$89,970
1500535	MDAQMD	PG&E Hinkley Compressor Station	425	\$149.95*	\$63,729
59	NCUAQMD	P G & E - Humboldt Bay Plant	943	\$149.95*	\$141,403
60	NCUAQMD	PALCO - Sawmill	416	\$149.95*	\$62,379
37	NCUAQMD	Evergreen Pulp, Inc	365	\$149.95*	\$54,732

ID	District	Feepayer	2006 Emissions (Tons)	\$ Per Ton Fee	Fee
3	NSAQMD	Sierra Pacific Industries	305	\$149.95*	\$45,735
12	SBCAPCD	Celite Corporation	928	\$149.95*	\$139,154
4214	SBCAPCD	Orcutt Hill IC Engines	311	\$149.95*	\$46,634
131003	SCAQMD	BP West Coast Prod. LLC BP Carson Ref.	2,489	\$149.95*	\$373,226
800089	SCAQMD	ExxonMobil Oil Corporation	2,172	\$149.95*	\$325,691
800030	SCAQMD	Chevron Products Co.	1,837	\$149.95*	\$275,458
800363	SCAQMD	ConocoPhillips Company - Wilmington	1,322	\$149.95*	\$198,234
800436	SCAQMD	Tesoro Corporation	1,207	\$149.95*	\$180,990
800026	SCAQMD	Ultramar Inc	866	\$149.95*	\$129,857
800181	SCAQMD	California Portland Cement Co	794	\$149.95*	\$119,060
800362	SCAQMD	ConocoPhillips Company - Carson	627	\$149.95*	\$94,019
114801	SCAQMD	Rhodia Inc.	384	\$149.95*	\$57,581
44577	SCAQMD	Long Beach City, Serrf Project	328	\$149.95*	\$49,184
19	SDAPCD	National Steel and Shipbuilding Co	298	\$149.95*	\$44,685
43	Shasta Co. AQMD	Wheelabrator Shasta E.C.I.	587	\$149.95*	\$88,021
2	Shasta Co. AQMD	Lehigh Southwest Cement Co.	496	\$149.95*	\$74,375
598	SJVAPCD	Guardian Industries Corp	1,041	\$149.95*	\$156,098
477	SJVAPCD	Pilkington North America, Inc	960	\$149.95*	\$143,952
1547	SJVAPCD	Aera Energy LLC	577	\$149.95*	\$86,521
33	SJVAPCD	Big West of California, LLC	769	\$149.95*	\$115,312
801	SJVAPCD	Saint-Gobain Containers, Inc	478	\$149.95*	\$71,676
511	SJVAPCD	Sycamore Cogeneration Co	462	\$149.95*	\$69,277
948	SJVAPCD	PPG Industries	414	\$149.95*	\$62,079
1128	SJVAPCD	Chevron USA Inc	412	\$149.95*	\$61,779
593	SJVAPCD	Owens-Brockway Glass Container	393	\$149.95*	\$58,930
767	SJVAPCD	J R Simplot Company	355	\$149.95*	\$53,232
2073	SJVAPCD	Covanta Stanislaus, Inc	312	\$149.95*	\$46,784
2234	SJVAPCD	Occidental Of Elk Hills, Inc.	298	\$149.95*	\$44,685
1141	SJVAPCD	Chevron USA Inc	295	\$149.95*	\$44,235

ID	District	Feepayer	2006 Emissions (Tons)	\$ Per Ton Fee	Fee
13	SLOCAPCD	Conoco Phillips Santa Maria	2,668	\$149.95*	\$400,067

Total **Facilities**

81,549 \$12,228,273

* \$117.41 Base Fee, Plus \$32.54 Supplemental Fee

Legend

BAAQMD: Bay Area Air Quality Management District CCAPCD: Colusa County Air Pollution Control District KCAPCD: Kern County Air Pollution Control District

MBUAPCD: Monterey Bay Unified Air Pollution Control District MDAQMD: Mojave Desert Air Quality Management District North Coast Unified Air Quality Management District NCUAQMD: **NSAQMD:** Northern Sierra Air Quality Management District SBCAPCD: Santa Barbara County Air Pollution Control District SCAQMD: South Coast Air Quality Management District

SDAPCD: San Diego Air Pollution Control District

Shasta Co. AQMD: Shasta County Air Quality Management District SJVAPCD: San Joaquin Valley Air Pollution Control District SLOCAPCD: San Luis Obispo County Air Pollution Control District

Non-Vehicular Source Fees Fiscal Year 2008-2009

Architectural Coatings

Feepayer	2006 VOC	\$ Per Ton	Fee
	Emissions	Fee	
	(Tons)		
Ace Hardware	329	\$117.41	\$38,628
Behr Process Corporation	3,709	\$117.41	\$435,474
Benjamin Moore & Company	905	\$117.41	\$106,256
Duckback Products Company	324	\$117.41	\$38,041
Dunn-Edwards Corporation	3,273	\$117.41	\$384,283
Frazee Industries	2,065	\$117.41	\$242,452
Gardner Asphalt Corporation	257	\$117.41	\$30,174
Henry Company	355	\$117.41	\$41,681
ICI Paints	3,254	\$117.41	\$382,052
Kelly-Moore Paint Company, Inc.	2,160	\$117.41	\$253,606
PPG Architectural Finishes, Inc.	387	\$117.41	\$45,438
Rust-Oleum Corporation *	850	\$117.41	\$99,799
Sherwin-Williams Company	4,381	\$117.41	\$514,373
Stoncor Group, Inc. *	158	\$117.41	\$18,551
Tremco Incorporated *	186	\$117.41	\$21,838
Valspar Corporation	1,390	\$117.41	\$163,200
Vista Paint Corporation	853	\$117.41	\$100,151
William Zinsser & Company *	2,303	\$117.41	\$270,395
Tatal Analita atomal Castin on Farmanana	27 420	1	¢2.407.200

Total Architectural Coatings Feepayers 27,139

\$3,186,390

^{*} Part of RPM International, Inc., but billed

Non-Vehicular Source Fees Fiscal Year 2008-2009

Consumer Products

Feepayer	2006 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
3M Company	688	\$117.41	\$80,778
Aaron Industries	393	\$117.41	\$46,142
Ace Hardware Corporation, Paint Division	1,065	\$117.41	\$125,042
Acuity Specialty Products, Incorporated	482	\$117.41	\$56,592
Alberto-Culver USA, Inc.	389	\$117.41	\$45,672
Albertson's, Inc.	573	\$117.41	\$67,276
Avon Products Inc.	320	\$117.41	\$37,571
BASF Construction Chemicals, LLC	357	\$117.41	\$41,915
Bath & Body Works / The White Barn Candle Company	474	\$117.41	\$55,652
Berryman Products, Inc.	312	\$117.41	\$36,632
Bissell Homecare, Inc.	30	\$117.41	\$3,522
Bondo Corporation	70	\$117.41	\$8,219
Chemical Specialties Manufacturing Corporation	23	\$117.41	\$2,700
Colgate-Palmolive Company	281	\$117.41	\$32,992
Coty, Inc.	397	\$117.41	\$46,612
CRC Industries, Inc.	779	\$117.41	\$91,462
Cumberland Swan Holdings, Inc.	289	\$117.41	\$33,931
DAP, Inc.	94	\$117.41	\$11,037
Ecolab	466	\$117.41	\$54,713
Elmer's Products, Inc.	127	\$117.41	\$14,911
Guardian Products, Incorporated	33	\$117.41	\$3,875
Henkel Corporation (for Henkel of America)	341	\$117.41	\$40,037
Homax Holdings, Incorporated	271	\$117.41	\$31,818
ITW Dymon	5	\$117.41	\$587
ITW Fibre Glass Evercoat	90	\$117.41	\$10,567
ITW Performance Polymers	1	\$117.41	\$117
ITW TACC	3	\$117.41	\$352
ITW Texwipe	14	\$117.41	\$1,644
Johnson Diversey	817	\$117.41	\$95,924

Feepayer	2006 VOC	\$ Per	Fee
	Emissions (Tons)	Ton Fee	
Kay Chemical Company	95	\$117.41	\$11,154
Kop-Coat, Inc.	10	\$117.41	\$1,174
L'Oreal USA	619	\$117.41	\$72,677
LPS Laboratories	25	\$117.41	\$2,935
Macco Adhesives	278	\$117.41	\$32,640
Moc Products Co., Inc.	385	\$117.41	\$45,203
Parfums de Coeur	266	\$117.41	\$31,231
Penn Champ, Inc.	233	\$117.41	\$27,357
Permatex, Incorporated	102	\$117.41	\$11,976
Personal Care Products, Incorporated	440	\$117.41	\$51,660
PT Technologies	1	\$117.41	\$117
Radiator Specialty Company	544	\$117.41	\$63,871
Reckitt Benckiser, Inc.	2,535	\$117.41	\$297,634
Republic Powdered Metals, Incorporated	5	\$117.41	\$587
Rust-Oleum Corporation	892	\$117.41	\$104,730
S.C. Johnson & Son, Inc.	1,634	\$117.41	\$191,848
Safeway, Inc.	412	\$117.41	\$48,373
SOPUS Products	461	\$117.41	\$54,126
SSDC, Inc.	40	\$117.41	\$4,696
Sunnyside Corporation	967	\$117.41	\$113,535
Target Corporation	277	\$117.41	\$32,523
The Clorox Company	1,669	\$117.41	\$195,957
The Procter & Gamble Company	3,417	\$117.41	\$401,190
The Sherwin-Williams Company	3,899	\$117.41	\$457,782
The Testor Corporation	50	\$117.41	\$5,871
The Valspar Corporation	258	\$117.41	\$30,292
The Valspar Corporation Arch. Coat. Division	249	\$117.41	\$29,235
The Valspar Corporation, Valspar Refinish Division	3	\$117.41	\$352
The Valspar Corporation-Engineered Polymer Solutions	29	\$117.41	\$3,405
The Valvoline Company	411	\$117.41	\$48,256
The Wella Corporation	251	\$117.41	\$29,470
Unilever Home & Personal Care-USA	1,814	\$117.41	\$212,982

Feepayer	2006 VOC	\$ Per	Fee
	Emissions	Ton Fee	
	(Tons)		
Unisource Worldwide, Incorporated	311	\$117.41	\$36,515
Victoria's Secret Beauty Company	377	\$117.41	\$44,264
W.M. Barr	2,479	\$117.41	\$291,059
Wal-Mart Stores, Inc.	2,018	\$117.41	\$236,933
WD-40 Company	1,387	\$117.41	\$162,848
Willert Home Products, Inc.	336	\$117.41	\$39,450
Wynn Oil Company	27	\$117.41	\$3,170
Zinsser Company, Inc.	101	\$117.41	\$11,858

Total Consumer Products Feepayers 38,491 \$4,519,228

Note: companies with VOC emissions below 250 tons are subsidiaries that were billed separately per the instruction of parent companies